


Reversible methods are followed to control births.

Exam Q

Oxytocin is usually given  

Orally
IV

IV infusion...the correct answer

Cortisol has a problem when it uses as an anti-inflammatory drug for a long time because this affects  

the axis



Male hormonal contraceptive methods are considered to be not preferred  

methods because they end his sexual functions totally.

Vasectomy ligation of vas deferens prevent the passage of sperm to the penis

Mechanical contraceptive methods decrease the incidence of sexually transmitted  

diseases.

BEHAVIORAL : Avoiding sexual intercourse when the female is highly fertile





Progesterone is used to decrease uterine and vaginal bleeding



You must be careful when you use hormonal contraceptive because you give an  

external hormone that can distribute the normal axis.

10% of ladies that use contraceptive become infertile due to complete atrophy of cells

The size of mechanical contraceptive method should be taken into consideration

IVU (intrauterine device)is a device used in the uterus that changes the uterine wall  

preventing implantation of the zygote

Estrogen has more side effect than progesterone

Progesterone as mini-pills: start at day 5 of the menstrual cycle, even there is bleeding,  
and stop it at day 20, we stop it because we don't want to complete suppression of the  
axis

Combined oral contraceptive pills can have tertatogenic effects







 Monophasic birth control pills have the same amount of  

estrogen and progestin in each active pill (1 tab for 21days)

 Biphasic birth control pills change the level of hormones  
one time during the menstrual cycle. During the first half of  
the cycle, the estrogen/progestin ratio is usually higher (1  
tab for 7-10days). During the second half of the cycle, the  
estrogen/progestin ratio tends to be lower (1 tab for the  
next 11-14days)

 Triphasic birth control pills contain three different doses of  
hormones so the hormone combination changes  
approximately every seven days throughout the cycle (1 tab  
E>P daily for 7 days; 1tab E=P for the next 7 days; 1tab  
E< P for the last 7 days)
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